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Surface Area and Volume qf Composite Solidgj £ =

.‘-?. l/_
N
Volumie = volume of large cylinder - volume of small cylinder
Surface area = area of large cylinder’s curved face
+ area of small cylinder’s curved face
+ area of large cylinder’s circular faces.
— area of small cylinder’s circular faces
~7 Volume = volume of rectangular prism
A + volume of triangular prism
L O Surface area = area of 5 faces of rectangular prism
j i + area of 4 faces of triangular prism
Find the volume. 4. 5m
1. ] 7m
s 3m
L - 10cm A
4cm - - 4m
_~"6em 12m
= 6em
15cm
Find the surface area and the volume.
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1.5m
1i5m
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Name

Similar Triangles

When 2 triangles are similar, the corresponding pairs of angles

are equal and the ratios of the corresponding sides are equal.
In APQR and AXYZ, LP = £X, £Q = £Y,and LR = LZ.

PO_1QR_1, PR _1
XY 2°vyz 2 X740 w 2F
So, APQR and AXYZ are similar.

-

In each diagram, the triangles are similar. Write

the ratio of the lengths of the sides %—g g
1. 2% o
: F D
Cc o
A F
4 (8] i ’:3 B E
A B0 E i
| | A c

The triangles in each pair are similar. Find the
unknown side lengths.

3, P S
15em 20 cm 20 cm 1
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b= ) d=
5. v
w__—/
X - m% 16m
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6. Explain why AABC is similar to AAEF.

E
gL
vl

4
A C F
7. Find a.

8. Nida is 1.8 m tall and casts a shadow

1.5 m long. At the same time, a miccowave
relay tower casts a shadow 32 m long. Draw
and label 2 triangles depicting the information.
Determine the height of the tower.

9. Ranin marked out . ,J”"T—’\. .
the following triangles
to determine the
length of a pond. 13m
Calculate the length
of the pond, AB, to
the nearest tenth of gl
a metre. 38m 0
71
S. & =20 3 .Q=3

Iy < OuL
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- Extra Practice

1. Determine the measure of ZABC and ZAEC. Explain how you determined your
answers.

S

2. Determine the length of chord BC in each of the following.

a) 2T b)

>
m

3. Point C is the centre of a circular flower bed A
with a radius of 8 m. The flower bed is divided v D
as shown in the diagram. If Z/ABD = 45°, determine
the length of AD to the nearest tenth of a metre.

B
4. Find the unknown angle measure in each of the following diagrams.

m = Zm =
Zn = Zn =
X = LX =
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Extra Practice

1. In the diagram, MN is tangent to the circle
at T, the radius is 5 cm, TN is 12 cm), R
and ZRCT = 120°.

a) What type of triangle is ARCT? Explain your answer.
b) What is the measure of /TRC?
c) What is the length of PN? Show your calculations.

2. a) In the diagram, EF is tangent to the circle at F,
and the radius is OF. 0
What is the measure of ZOEF? 230
F E

b) In the diagram, SP is tangent to the circle at P. p
SX is tangent to the circle at X. SP = 6 cm, ‘
SA = 10 cm, and A is the centre of the circle. . >
What is the length of AX? ‘

3. On the map, DB is tangent to the

B
circle at B, the diameter is BE, DB = 5 km, A D
and AABC is an equilateral triangle. The radius
of the circle is 6 km.
a) What is the length of BE?
E

b) Jorge starts at point D, cycles to E, and then
to C. Sarah cycles to A, then to C, and then to E.
Who travels the shorter distance? By how much? Show your calculations.

4. Two concentric circles have radii of 24 cm and 26 cm. What is the length of
the chord that is tangent to the inner circle? Include a sketch with your
answer.

5. RT is tangent to each circle at S and R.
IFOR=9m,PS=3m,ST=6m,
and RT = 10 m, how far apart are the centres?
Round your answer to the nearest tenth of a metre.
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